Total Printed Page: 4 Roll No

MT-01
Discrete Mathematics

fafdery wrfore

Bachelor of Science (Bsc-12/16)
First Year, Examination-2019

Time: 3 Hours Max. Marks: 40

Note:- This paper is of Forty (40) marks divided into
two (02) Section A and B. Attempt the
question contained in these sections according
to the detailed instructions given therein.
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Section-A (TUS—h)
(Long Answer Type Question) (&€ STRIT TeH)

Note:- Section - A contains Three (03) long answer-
type questions of Ten (10) marks each.
Learners are required to answer any Two
(02) questions only. (2x10=20)
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1. For any three set A, B and C prove that
@aA-B-C)=A-BnNC)
(b)) ANBUC)=(ANB)UANC)

fosl I W ==g A, B 3R C & fou g
BHIFTY
(adA-B-C)=A-(BNO)
(b)) ANBUC)=(ANB)UANC)

2. Find the complement of the following function:
(a) f=ab + ab

(b) f=a'be + abe' + able + ab'c'

Fefalad ®eql @& foIlT R&G B 9
3:
(®) f=ab + ab'

(@) f=a'be + abe' + a'ble + a'b'e
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3. Determine whether the following diagraph
G is strongly connected :

Section-B (TUs—%)

(Short Answer Type Question) (cTg ST Y3)

Note:- Section-B contains six (06) short answer type
questions of five (05) marks each. Learners
are required to answer any four (04)
questions only. (5x4=20)
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1. If a*b =2a + b + 5 then prove that * is not
associating

I a*b=2a+b+5 add g sy f *

ATEaRIdT BT Ul T8l %|

2. Explain planer graphs.
THAATT UTHT Y THSATSY |
3. Prove that number of vertices in a binary tree

is always odd.
g ST & a0 & # o0t & o G
goen fawH el 2 |

4. Solve the recurrence relation
an = 6an-1 = 9 an-2 with initial condition ao = 1
and a1 =6
an = 6an1 = 9 an 2 JIRMGRT FEH B GRID

3R a0 = 131K a1 =6 oY & B |
5. Describe the following language by regular

expression R over

A ={a, b}

L = {bmab”: m, n > 0}

ferforRad WIS &1 AT SHTT R @ S0
A ={a, b}

L = {bmab”: m, n > 0}

% forg aRwiia ®Ifsg |

6. Prove that a tree with n vertices has n — 1

edges.
Wn?ﬁ“ﬁmﬁfffﬁmﬁ‘@?ﬁmﬁ?n—l

oIl B |
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